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1 2nd order system
The open loop transfer function of a unity feedback system is

G(s) = 1

• peak time tp = 1 sec

• Overshoot Mp ~ 5%

The desired performance specifications ~re:

Can those requirements be met?
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2 Routh
Suppose that unity feedback is to be aRplied around the open loop system:

I

2(s + 2)
GOl = s2(S + 1)

Then the closed loop has

a) no poles in RHP (right half plane)

b) 1 pole in RHP
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3 Systeillj:iype
Two feeqback systems are shown below:
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Figure 1~'Twofeedback systems : I
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The syst~m types are:

a)

b)

c)

sy,:stema: type 2, system b: type t
sistem a: type 1,systenl'b: type t,~--~~~~--~~
system a: type l,systemb: typer
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dJ eL; sy'stem b: type q

4 Steadyi~stateerror
Consid~t the system below:
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Figure 2: Feedback system

The steady state error due to ramp input R(8) = Tso is

c&:eCXJ=U
b) e = A
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c) none of the above ~' A-
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6 Trueorfalse
Stability of a system does not depend Oiij. the kind of s')"iSte:tmY<dn1DU~H" ,,'--
a) ,T~
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